1 INA

<2id BIGINT
< dientld BIGINT
< creationTime DATETIME
< creationUserId BIGINT
! instanceld BIGINT
> description VARCHAR (4000)
 start DATETIME
<> end DATETIME
<7 isOpen BIT
! swimlaneld BIGINT

! actor BIGINT —\
< pooledActor BIGINT
< activity BIGINT
U

® task 'n motion

[~

¢ id BIGINT

2 name VARCHAR(255)
< dientld BIGINT

! instanceld BIGINT

¢ actor BIGINT

< pooledActor BIGINT

—JSlS

2 name VARCHAR(255)

< dientld BIGINT

< creationTime DATETIME
< creationUserId BIGINT
“identityType VARCHAR(...
> email VARCHAR(255)

< firstname VARCHAR(255)
 lastname VARCHAR(255)

<2id BIGINT

2 name VARCHAR(255)

< dientld BIGINT

< creationTime DATETIME

< creationUserId BIGINT

v efforfType VARCHAR(31)

> vadue VARCHAR(255)

< description VARCHAR (2000)
> costCenterId BIGINT

! parentFolderld BIGINT
U

7 id BIGINT =1

! instanceld BIGINT
< defintionNam e VARCHAR(255)
< dientld BIGINT
< creationTime DATETIME
! creationUserId BIGINT
! processDefintionId BIGINT
7 instanceDescription VARCHAR(4000)
< end DATETIME
< archivBIT
' creationGroup BIGINT
> rootToken BIGINT
 parentProcessToken BIGINT
< escalationStatus INT
2 nextEscalationTime DATETIME
“ processVariableIndexid BIGINT
' parentFolderIld BIGINT
2 index1 VARCHAR(255)
“vaduel VARCHAR(255)
7 index2 VARCHAR(255)
<> vadue2 VARCHAR(255)
2 index3 VARCHAR(255)
“ vaue3 VARCHAR(255)
2 index4 VARCHAR(255)
< vadue4 VARCHAR(255)
7 index5 VARCHAR(255)
<> vadue5 VARCHAR(255)
2 index6 VARCHAR(255)
“ vaues VARCHAR(255)
2 index7 VARCHAR(255)
< vadue7 VARCHAR(255)
7 index8 VARCHAR(255)
> vadue8 VARCHAR(255)
7 index3 VARCHAR(255)
“ vaue9 VARCHAR(255)
2 index10 VARCHAR(255)
“ vdue10 VARCHAR(255)

1
= instanceld BIGINT

-

-

< id BIGINT
“>name VARCHAR(255)
< dientld BIGINT
! instanceld BIGINT
2 stringvalue VARCHAR (4000)

U
T view acitvity 7
<id BIGINT
> name VARCHAR(255)
< dientld BIGINT
< creationTime DATETIME
< creationUserId BIGINT

! instanceld BIGINT
< start DATETIME
< end DATETIME
<> loopCount BIGINT
< duration INT
< escalationStatus INT
2 escalationTime DATETIME
<> milestone BIT
> milestoneDate DATETIME
< timeBuffer INT
0 calculatedEST DATETIME
- calculatedEFT DATETIME
< calculatedL ST DATETIME
< calculatedLFT DATETIME
< vaueEST INT
< vaueEFT INT
< vauelST INT
< vauelFT INT

L
< id BIGINT

> name VARCHAR(255)
< dientld BIGINT

< nodelnstance BIGINT

“ parent BIGINT

] view_definition 7
! id BIGINT

> name VARCHAR(255)

< dientld BIGINT

< creationTime DATETIME

< creationUserId BIGINT

> description V ARCHAR (4000)

< version INT

< escalationStatus INT

> owner VARCHAR(255)

o starter VARCHAR(255)

< deployer VARCHAR(255)
.




